SECTION - A
NLOT—ed

= r any Five of the following. : (5x2=io), .
WHEOR o JIAGR. w308 .

: Define Financial services. ~. :
| BRmAS AeSnod, mar. R

| 4
~ b) State any two qualitative factors of leasing. 8
i’%: . OR8E  Redod ST wo3ndRy,  wdoid. g
:L '- }c) What do you mean by market making?
B SR0EEeD TBI 20mTed?

d) Define depositories.
: xo@)sésm DTN

g - - Give the meaning of mutual fund.
. TOI0 AQOD  ogFIRy @

f) State a'ny'two advantages of Venture Capital.
B WOBIYR CIPHRTTL 0D SNFROINTR,  WIWD.
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ence between leasing and the hire puchasing,

R 00 SRS FEANeR, wdowo,

: : : d i prost ts.
- Discuss the contents involved in prospec -
- Jowon T wvrporty OB, wdesr .
. Briefly explain the
L ey VOB 1
| 6. Explain the advantages anq disadvantages of merger, ' i
RN Y ORTRIROINYR,  amos,

SECTION . C
' R-e

~ . - . Answer any Three of the following question,
e : Odaa@mdd.@ BRh T e W30y,

-

features of Venture Capital,
@ssamm& :o’oggmﬁ QIO
[y

(3x1545)
, bt
. A Explain the functiong of Financia] gop s
: Ivices,
- | ey ResSngy w:d:s-‘rieéabgl DTDR),
' 8. What do yoy mean L leasing? In { |
| | 7'?68&3 A dey @m{n#ﬁé Eggéz;m its a Ntageg

Explain

g
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‘_ 1, Answer any Ten of the following,

1

SECTION - A

QRLON—e

CIRED B THAer coson,

What do you mean by financial services?

BEOTOIT  ReBned DOTBe?

What is bill discounting?

ROB ReeREITD  DOTTeH?

Write any two types of lease.

ReEdod TR TFOOMT, - 2T0N0.

Define Hire purchase.

WWRA DOOODY, TR

What is merchant bankiyg?

DBEF aplel DOTBEN?

- What do you mean by underwriting?
LD BONB FORE wonded?

~do you mean by offer for sale?
:&sﬁgﬂ QeRE aocﬂdem?
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e »
= St

13.

14.

- 15.

d Tﬁ. * What is mutual fund?
~ 'TIB A 20EBeD?

SECTION - B
Qgn-w

Answer any Three of the following.
CIRPTOETH =Rt IFRON LWZOAR.

Briefly explain the scope of financial services.
DEOFAD ARG DYQODI, Rogezsezon WWOA.

Explain the types of lecse.
Reedod  JFORYR, DFOR.

Write a short note on merchant bank scope in India
PRTSTY  BIFT WROFI OFD WIB  3oWH.

. Explain the importance of venture capital.

MBR  WOBET m‘,ms}ééodamol WWOA.

Explain the features of mutual fund.

L | ﬁdﬁd ac;oj; OFNY, QTOR.
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tages and disé.dvéntages of leasing.
g DB ONDRROIRGT, DO,

in the functions of merchant bank.
3 WROFI TORFNRIR,  HROR.
in the features of venture capital.
| WOBTYE ODFATRD,  D[OR.

@xplam fhe advantages and disadvantages of merger.
ROTFORT  HDBROS W, WTODHRRVIRGT, DTOA.
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SECTION - A
az:a_r{—@

ne Human Resource. Management.

= ﬁowmev aarmoma& WRETYNA0.

is job ‘evaluation?
BPOeTTrD  DOTWTeH?

tion.
. 0 DONA.
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hat you mean by mgement development?
NIrEE RN oWRD?

Whnt is performance appraisal? o
TONFADFDDO OISR RQMF’ lelalel

SECTION - B
NRN-2

Answer any Three of the following.
CIRPTRTCe e JJROR  wOIOR.

F - 13. What are the needs of human resource management?
e SRS FoTIRe IJFIHCHL  W[YIBRGEH?

3 5
X
E: R e

‘14. Explain the human resource planning process.
SRS FoIBee  odeesd TFODODY,  DWOR.

15, Explain the advantages of job evaluation.
: ervcirgsm BROeBT o0 @mm@éwm WO,

t Dlstlngulsh between recruitment and selectlon

asemaa :5333 escﬁ%ri@ SRT a:iaagme:ab 393,

plain the 1mpoltance of tramlng
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y(')-u' mean by an Interview? Explain the different methods of n
QROTBEN? TOTIEIT NG AFRID),  WWOAD.
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SECTION - A
RN~

swer any Five of the following,
g8 oiRFmocide wob  TIAOR  euzoLD.

:\ma:a ROTIR® JVFHEHOD  DTB muaum% 390,

% -~ What is Layo(f?
-.".j .,333.@43?6 WD ROTIBENT

o Distinguish between recruitment and selection.

o -} - B O gy, == ol g - - o ol ol el 90
43 Zﬁ@? “Dmc-‘j OJJW-U’ C’Ow; ;JC‘J:/CJTJ\%‘ SNV N?/jmrw/ul OYA.
s far FJ) %

.

4 Name any two types of training.
BSBEeaoh cuTECR 0B TFRONYED)

* What is promotion?

. AWFTBOD sﬁaeémaadsi

1 any two types of interview.
8 oSRFRETe 0B
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sceds of Human Resource Management?
. oS3 JomERY AVFBROD R IINTD?
o: Explain the Human Resource Planning Process.
' DBOA.

SRIs  RomRQY clmend  TFOROD

10. Explain the advantages of job evaluation.
VBRM SPOEOE  obieOdiR, DO

11. Give the meaning of Induction. Explain the objectives of Induction.
OSPETORE  ©BF RO,  ToOIRF V0L QOT CBNTRY,  WWOAD.

12. Explain the types of training.
30We30DYS  T[TORTR, WWOAD.

SECTION - C
YA SR

Answer any Three of the following. (3x15=
3PN OIPPYTOTTR B  BJINYA  GOSOAD.

n the functions of HRM. ‘

' 13. Define Human Resource..
Plerer ©TC  TohFiva, @s0d
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Name the authorities ‘to appoint Company Auditor,

4. .

i Stéte any 2 rights‘ of Company Auditor. i
30T S3TOBRHTS  IPYTEER AT BRI, SO0

- Five of the following,

can become a company Auditor?
_"u’o IS HOBREFBTORWRIRY

i}oeu& ST 03RRI, Je? IPBDH OO WREDZY, BROA. -

“N "'_F-I
Bl

Define Audit Report.
63 O&raeq%s STOODI),  TYTAA.

Define Divisible Profit.
- BDOBWIBOWIT oFTB WLB, 3B
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* What are the types of Dividends? N b
 SOpR03E  BrORURy, DTWORO. .

Briefly explain the cost Audit.

d;g 33 Todeegdod wif Rogen 2TCWO.

'Distinguish between Profit and Divisible Profit.
oz ) TOBLIT  FNFI BIVAINGT, 390.

SECTION - C
NPON—T

Answer any Three of the following questions.

13 Explam the Rights and Duties of company auditor.
303 S3modeedss IR e BRI, DF00.

14. What are thg: Contents of Audit Reports,
| Ofodecgm 000 amamosrivn, oo,
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SECTION - A
A T

ver any Ten from the following,
03059 T TITH o=y 632‘3471@?? HBOR.

1 lee two disqualifications of company auditor.
PB0TD 98 Todnerss aomy eumesan ©0BRYRY, 808D

~ State two features of audit report,
T8 ToBeemme [S0oH  odu OBNID, 8920,

‘ .’W_ho ‘should sign the audit report? |
L &8 @Bodecgm woor x BORTHTTY

:7_' What do you mean by profit?

e the meaning of dividend.
38 oBFER, wEwD.

. dividend. 4L
033 ©FF ATTH Jed.
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® 6.)055@539

ig e : : itor.
11 Define professional ethics of an ;;d;o'a r
L S8 Dodepss =9 ResodE) %Y
12, What do you mean by professional misconduc
" BS DIFES wosdeRd?

SECTION - B
ALALT SN

Answer any Three from the following.
OO TRTTR * =R ss @a’*@lﬂ@ﬁ ULSOR.

13. State the disqualifications of co

mpany auditor.
FOTR csgwomea;w OIZE3NR

%ﬁmg,\ 2B0MO,

- 14. Distinguish b/w profits and divisjp]

€ profits.
PP DD Boww@TT Sogng

28 IANT
e 33 e |

' 15 What are the
) @aepaoeﬁd TFTNH WTOR0,

types of dividend.

: ! Define cost aud
g %=

b
- 3

‘ 3 So

RO, e
. | o ) (o} emt%eesmfaad
ate the 'mportance of y,4;

I t report, ]
aa : ;6@% __magmg 3905 1
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dlfferent types‘of audlt e w i
; o:bm I3TDAAD. ess wa&aeﬁm

adit programme for partnership firm.
0% .z»‘o,ﬁo:b e% TOBReTTo anjarﬁwm@;m 2B0ND.

‘ n the dutles and 11ab111ty of company auditor.
635 TO3ReFFT 53?571%0 OMWEN] mmmééﬁ@ém DTORD.

"thg meaning of divisible profits. Explain the factors goi/eming the determinatimfr.. i
tvisible profits.

BOWE oL @d?wa‘o T, BOBORI D03, HODLSDRY NI aﬂewd
‘ﬂ%"ﬁ) QSGNO

g ]
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Retention Money?

do you mean by maintenance charges?
at 1S process costing?
at is Break Even Point(BEP)?
| , SECTION - B
wer any THREE questions of the following.
:;guish' between cost sheet and statement of profit.
Tor the following information, prepare an estimate for job n0.505:
b A Rs.
materials consumed 17,000
rect wages paid 20,000
e expenses . 50% on wages.
xpenses 20% an factory cost.
tation should include a profit of 20% on selling price.
is }the. infonna'tion‘ relating to contract No.222:
Rs.1,00,000
, , Rs.7,00,000
: m Sto(e_s RS.Z,OO;OOO ; |
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rates 30 days in a month. The record shows -
icles are laid for repairs everyday. : g g

Calculate effective ton Kms for the period. o 8!
‘Explain the advantages and disadvantages of marginal costing.

: SECTION - C &
Answer any THREE of the following questions. _
13. Following are the particulars supplied by Manjunath sewing manufacturing e

for 800 machines for the year ending 31-3-2017.

Cost of materials Rs. 32,000
Direct Wages Rs. 48,000
+ Manufacturing Charges Rs. 20,000 :
Al Office Salaries Rs. 24,000 !
1 Rent and Taxes Rs. 4,000 )
,-;- Selling expenses Rs. §,000
K" General expenses Rs. 12,000
Sales Rs. 1,60,000

Following estimates were made by the costing department of the company for th
year ending 31-3-2018. /

A) The output and sales will be of 1000 machines.
B) The price of materials will rise by 25% on the previous year level.
C) Wages during the year will rise by 12%%.
D) Manufacturing cost will rise in proportion to the combined cost of
and wages.
E) Selling cost per unit will remain uncharged,
- 'F) Other expenses will remain uneffected by the rising output, 4
~ From the above infomation prepare the cost statement showing the price at
e machine would be marked. So as to show gz profit of 12%% on the |

“ A
LSRR et
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25% on original cost. The Contractee was to P
y year and settle the a/c at the end of the year _

act A/c for three years.

i3 in a month. The distance between Bangalore and Mysore is 130

he bus completes the trip from Bangalore and Mysore and will be back on the =
day. The bus goes to Nandi for another 10 days the distance between '= »
alore and Nand1 is 60 kms. Ilm mp is also (,ompleted on the same day fm‘

95% on his taking. the other information is
of the bus 3,00,000
eciation @ 20% p.a.
of Clerk 250 p.m.
e | 7,500 p.a.

':'§0nsumption 10 Kms per liter costing Rs. 4 per liter tax Rs. 4

1_
o

Rs 10 per 100 kms.
mamtenance Rs. 2,500 PM
wm PM.
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B Year

oss in process 1 was 30% of Input and the actual ou ol ut of

to 6900 tonnes.

wtput of the process was Rs. 5, 80() tonn. Scrap is process va]ued A

- tonns. |
- The turnover and profit during two period were as follows.

Profit
4.00,000
8,00,000

Sales
40,00,000

2016 |
60,00,000

2017

| :'Ca].-'culate on:

i) P/V Ratio

- BEP sales

_ ;Sales requ1red to earn a profit Rs. 10 00 ,000
v) rof t when sales are Rs. 50,00,000.
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Ictions of ManagementAccountmg
two limitations of Management Accounting?
meaning of Ratlo Analy31s |

two uses of fund flow statement.
is funds from operation?

is Financial Analysis?

SECTION-B
er any THREE of the following :
ain the importance of Ratio’s.
the differences between cash flow and fund flow.

ance sheet of P. Ltd. as on 31-12-91 was as follows.

1 Assets
Plant
Building
Furniture
Stock
Debtors

Short - term
Investment
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édment Ratxo _
chk Ratio
- i Debt - Equity Ratio
i Calculate funds from operatlons
el I"art:culars
Profit as per statement of P& L.
Depreciation
Loss on sale of machinery
Goodwill written off

Patents written off
Discount on issue of shares

Profit on sale of Building
Net income of S. Ltd for the year ending 31-12-201 7 was Rs. 1,60, 000
flows from operating activities. R
Particulars B
Bills Receivable
Prepaid Expenses
Stock
O/S incomes
Debtors
Accumulated Depreciation
Doubt ful debts |
Dividend Payable
- Bills Payable g
~ O/SExpenses

(e
W
1y

Tl ‘(Tredltors

L .;

Scanned by CamScanner




: -\ .. . ".W ‘y’“ ,II ‘. '! ¥ O : .' i
i e el YS! MOHEE -
e 'ent‘q'fAssets and Liabilities REL - ‘3-'»,
Note No.  Amount R

4,00,000
3,00,000

60,000

4 2,00,000 2,60,000
| Total 9,60,000
1 Non - current assets
B a)  Fixed assets
~ Tangibleassets 5 4,60,000 4,60,000
~ b) Current assets
Inventories 6 2,80,000
Trade receivables 7 1,60,000
- Cash & Cashequivalent 8 60,000 5,00,000
Total 9,60,000
Statement of Profit and Loss
: Note No. - Amount Total
uing Operations | |
venue from operations 1 17,00,000

18,000

9,91,500
30,000
3,96,500

=N
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Creditors for Expenses

Tangible assets |
< | 1,60,000
| Furniture m |
O | ] Inventories - stock 2,80,000
3 7 ~ Trade Receivables
" ) | Debtors 1,40,000
b | Bills receivable 20,000
A 1,60,000
8 Cash & Cash equivalents
\. Bank balance 60,000
i j Notes to accounts (Profit & Loss)
»’ Note No. Amount
1 Revenue from operations
Sale of goods 17,00,000
Other incomes . |

Profit on sale of Investment
Interest on investments

0st of materials consumed
ing stock
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||||||
.......

d lov - statement. .
‘ Amt. Total - Amt.

Liab’s
-1 Shareholders funds . , -
- a) share capital 1 5,000 5,300

b)) Res & surplus 2 2,800 7,800 3,700 9000
2 Non - current Liab’s _ g
long term borrowing 3 1,400 1,300 g
3  Current Liab’s : '
Trade Payables 4 2,000 2,100
. Total 11,200 T12,400
0 Assets
1  Non-current assets
a) Fixed assets
1) Tangible assets 5 2,900 3,300
2  current assets
Inventories 6 3100 A 3200
Trade Receivables 7 2400 2,700
Cash & Cash equable 8 2,000 2,500 =
Other current assets 9 800 8,300 700 _9_,_{9_0 i
: 11,200 12,400

Total

Notes to Accounts

~ Particulars
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Adjustments
' - Fixed assets costing Rs. 1200 were purchased. i
~ Fixed assets (orlgmal cost- Rs. 400 accumulated depreciation Rs. 150) were

1)
2)

4.
=

. "'"Tanglble assets

- Inventories
Stock

- Trade receivables
Accounts receivables
Cash & Cash equivalents
Cash
Other current assets

for Rs. 200

D1v1dend paid amounted to Rs. 300 in 2017.

Reported income for the year 2017 was Rs. 1200.

2 00 000
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¥ i?jéiiticulars
o “Slfiz‘are Capital
- Reserves & Surplus
~ Profit & Loss

Long term borrowings
Loan from bank

Loan from Subsidiary
- Company

 ' é - TradePayable
B Creditors
Tangible Assets
~ Machinery
~ Less: Depreciation

. L2 Eo .
~_ Building
Btand

Notes to Accounts

8,000 1,28,000

) .T#

7,200 1,28,000
4,28,000 4,70,000 1
2014 2015
2,00,000  2,00,000
96,000 98,000 S
60,000 50,000
- 40,000
60,000 90,000
72,000 82,000 |
2,14,000  2,44,000
54,000 72,000 *".1;‘ |‘
160,000  1,72,000 o f
1,00,000  1,10,000 |
40,000 60,000
3,00,000  3,42,000
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Peoions 14.19,736 "~y e 16,40,694
22,090 * 14,41,826 12,824
. 14,41,826

_ e 9,26,500 | 9,67,298
mﬁmance cost 8,550 7,000 .
Other exp’s 2,89,216  12,24,266 3,40,298 13,15,036
Profit before Tax 21,75,60 | 3,38,54'
 Less : Tax expenses 86,076 1,60,780
Profit after Tax | 1,31,484 - 1,77,763
Notes to Accounts |
Particulars ' 2016 2017
Revenue from operations 14,42 912 16,68,500
- Less: Sales Returng 23,176 27,806
Net Revenue 14,19,736 16,40,694
- Other income '
- Dividend 7,590 5,240
=B Purchase Discount 8.500 ; : 7’584
7 Proﬁt on sale of land 6,000 ' ’
ifé:r income :

22,090 - 12 824
9,26,500 9,67,798

8,550
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3 .: fes: : .
e sections according to internal choice.

B SECTION - A
any FIVE of tlhe following questions.

 State two types of Ratio’s.
o / A

SECTION-B

y'l‘HREE of the following questions. (3x5=15)
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able ~ Rs. 16000
eceivable — Rs. 24,000

Ascertain Funds from operations as at 31-12-2017. ey

o Particulars ' As on " As on;j" A3 ‘
B | . 31-12:2016 * 3121200

. Profi and loss as per statement 6,00,000 560,000

~ Gen Reserve 2,00,000 2,50,000
~ Good will 1,00,000 80,000

B Provision for Depreciation 40,000 52,000
Preliminary expenses 30,000 20,000
L: 12. From the following information calculate cash flow from operating activities.

: Particulars ' 2014 2015 '_

Cash 5,000 4,000

[ Debtors 50,000 40,000 o
~ Stock 70,000 90,000
3 . Bills Receivables 10,00‘0 ‘8-,0.00..3": d

T e

Prepaid expenses - 3,000 5,000
Accrued incomes . e OO0 OHE 0
b Proﬁt& Loss (profit) . 40,000
| : ’ 50,0001 SN
60,000 S

! S asat X "
PRt [ - A s
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9,00,000
1,40,000

1,50,000
1,64,000

5,60,000
2,30,000

1,54,000
3,60,000

50,000

10,40,000

3,14,000
13,54,000

7,90,000

5,64,000

10,00,000 |

2,36,000

1,98,000
2,00,000

7,40,000
1,80,000

2,18,000
460,000

36,000
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. - Short term provisions
~ Tangible Assets

‘Land & Buildings

| Plant & Machinery
0, ' Tangible assets
%—.'ft 6 Intangible assets
B Goodwill
, | Intangible assets
iup’l - 7 Inventorie_:s - stock
'E; | Inventories

8  Trade Receivables Debtors

Bills Receivables

Trade Receivables

Cash and cash equivalents
- cash in hand

(S el ‘-' "n_. o
[ AV Rl e Bk

20,000

| 1,50,

: the-
84,000 | 1,00,0
80,000 | 1,00,000

1,64,000 | 2,00,000|

4,00,000 | 3,40,000]

1,60,000 | 4,00,000

5,60,000 | 7,40,000

2,30,000 1,8(),000]

2,30,000 | 1,80,000]

1,54,000 | 2,18,000|

1,54,000 | 2,18,000

3,20,000 | 4,00,000
40,000 60,004'

3,60.000 | 4,60,0000

1
30,000 | 20,000

_50,000

Scanned by CamScanner



ote  Amount

B 1 200,000 2,00,000 1
& surplus 2 392000 592,000 3.96.000 596,000
rent liabilities S P
ng-term borrowings 3 1,24,000 1,80,000 .
Current labilities ,
- Trade payable 4 1,44,000 1.64,000
Y i 8.60,000 9,40,000
I Assets

1. Non current Assets

a) Fixed Assets
' b) Tangible Assets 5 6,00,000 | 6.84.000
2. Current Assets

- a) Inventories 6 1,00,000 88,000 |

; “l b) Trade receivable 7 1,40,000 1,53,600
- ©)Cash and cash s
1. _equivalent 8 20,000  2,60,000 14,400  2,56,000 g j
T 8,60.000 9,40,000 -

Notes to accounts

. | 2014 2015
1 Share capital, 2,00,000 - 2,00,000
p Share capital 200000 2,00,000
.e.,sm'ves & surplus v : T
. Reserve ©2,00000  2,00,000
: 1,92,000 1,96,000
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16.

e | Tangible assets

_ The statement of Assets and Liabilities of P. Co. Ltd and R.Co. Ltd are given as follows
statement of Assets and Liabilities. -
P. Co. Ltd. R. Co. Ltd.

Particulars Note Amount Total Amount Tot:

o Duildings
~ Machinery

6 Inventories

Stock 1’00’6091.- :
7 Trade Receivables o f"'
Debtors 1,40,000 1,53
8  Cash and cash equivalents .
Cash 20,000
Adjustments:

a)  During the year Rs. 1,04,000 was paid as dividends. |

b)  The provision for depreciation against machinery as on 01-01-2015 was Rs. 1,08,000
and Rs. 1,44,000 on 31-12-2015. '

You are required to prepare the cash flow statement (As per AS - 3)

I Equity & Liabilities
1. Shareholders Funds

Share capital 1 5,40,000 11,20,000
Reserves & surplus 2 - 28.000 5,68,000 36,000 li _Q.*
2. Non-current Borrowings K
Long-term loans 3 2,30,000
3. Current liabilities
S e payable , 4 28000 I
term provisions 5 20,000 h

Scanned by CamScanner



$,28,000 1 14,46,0007 A

8 2,000 80,000
tories P o 50 000:" - 50,000
> receivable 10 8,000 16,000
h and cash equivalents 1] 16,000 20,000

Advance 12 2,000 48,000 4,000 1,70,000
§ - Total 8,76.000 16.16.000
ou are required to prepare a common size income statement and show necessary workings.

; ﬂwmg are the statement of Assets and Liabilities of a company as on 31-12-2016 and
Q 2017

" Statement of Assets and Labilities

2016 2017
Note Amount Total Amount Total

1,39,000 1,45,000
% ves & surplus 21,800  1,60,800 24,120 1,69,120
-cu ent llabllltles |
I ' 24,000 12,000

20,000 U3 R 23 GoG
2,04.800 4,800
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2 hares of Rs. 10 each
Reserves & surplus 2
_Share premium

- Profit & Loss a/c |
Reserves and surplus
~ Long term b‘on*oWings
: Debentures

Trade payables

Trade creditors

Tangible assets - Land
Intangible assets - Goodwill
Inventories - stock
Trade Receivables - Debtors
Less - PDD
Trade receivables
Cash and cash equivalents
~ cash in hand
‘ iformation: _ 4
paid totalling Rs. 7,000,
sed for Rs. 20,000 and the amount proy;
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Section - A

Answer' any ten of the following qu

What is works cost?

How do you value the closing stock of finished goods?
1 What is Operating costing?
: State any two objectives of transport costing.

atare the types of contracts?

he t'is work certified?

at is process costing?
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il worked
JEhour rate -
- Office overhead 10% on works cost selling' & distribution overhead 50 p
~ Prepare a cost sheet to find out: S
. I ~a) Cost of production per unit & b)  Total profit. s
A A
L.—‘ 14. From the following partlculars calculate passenger Kms for the month of may 2'
. No. of buses : 20
- Distance covered : 100 kms
No.of trips . 2 round trips
Capacity of each bus :. 40 passengers
Onward journey . Full capacity utilised
Return journey : Halfempty

"
it

From the following information calculate the amount of profit to be transferred top w * '
loss A/c.

Notional profit Rs. 65,000
- Estimated profit Rs. 80,000
~ Value of work certified Rs. 7,50,000
Contract price Rs. 10,00,000

b 5. From the following information, calculate the values ofabnormal loss:
> ~_‘_Umts introduced in process ‘y’ 20,000

- Normal loss 10% on input
Actual production 17,000 units
st per unit Rs. 15.00
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40,000 -

1,00,000
8,60,000
s 4,80,000
“_,».- duction overheads 3,20,000
dmmlstratlon overheads 1,60,000
1I'mg & distribution overheads 40,0‘00

Rate Ofprofit 25% on selling price

It 15 estimated that production can be increased in the year 2015 by 50% due to. spare
vcapaclty Raw materials price will increase | by 20%. The rate of profit will remain the same.
8950% of all overheads are fixed and other 50% are variable. The wages will increase by

- 10%.
Prepare a statement showing cost, profit & sales.

k"

da

the following information, calculdte the cost per running a kilometer ofa vehicle, -
| Rs. 3,00,000

ue of vehicle
e.__rcnt per annum

Scanned by CamScanner



sh recelved from contra-tee

ntion money

B Depreciation on plant at 15% p.a.
~ Work done since certification amounts to 10% of actual materials used & 5%

wages. Write contract account contractees account & show the figures appears in the b lan
sheet for the above period. ' "
A product passes through three processes A, B & C, the details of each process AT
follows: , 1.
Particulars | A B G
Input (500 units) (Rs.) 4,000 —
S. Materials (Rs.) 5,200 4,000 2,050
Direct labour (Rs.) 4,500 7,360 2,800
Production overheads ;
100% of wages . L
Actual output (units) 450 340 270 8
Normal loss (% on input) - 1O 20% @ 25%
Scrap value per units (Rs.) 4.00 -8.00 10.00
- Prepare process accounts. ST
The sales & profits of X’ Co. Ltd during the two periods were as follows
Pel"iod Sales (Rs.) Profit (Rs.) |
1,80,000 30,000
2,40, 000 45,000
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SECTION - A

 Answer any FIVE questions.Each question carries TWO marks.
1. a  Expand WAN.
b. Name the types of data transmission.
Define protocol.
Expand HTML.
What is internet?

Define web page.

Who invented WWW?

SECTION - B

question ca'rries FIVE marks.

FOUR questlons Each

nswer any

-y me the component

; ,mtwork? Mentton dlfferent types of i it.

sof data commumcatlon

Scanned by CamScanner



ain in brief anatomy of E - Commerce.

rite a short note on newsgroups.

- Explain national research educational network.
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e ' SECTION -A I
. Answer the FIVE of the following
-~ L. Whatdo you mean by specia] Audit?
: . - Define the term “offense”.
- What is Non - cognizable offense?
~ Who can conduct audit of tax payers?
Mention any two objectives of Advance Ruling.
Write any four prescribed offenses under CGST Act,
What is the recovery of Tax?
' SECTION - B
-Answer any THREE of the following : (3x5=15)
8. Whatis scruting of returns? Explain the provisions related to scruting of returns,
‘9.  What is Audit? Explain the procedure of special Audit.
Explain the following under CGST Act.
a) Inspection

arch : k 7 o
:/Ie/s xyz company has stock worth Rs. 10,00,000 as on 10-06-2017. The

' : : 3) VAT Invoice. The rate of tax under GST is 28%. Find L
k- : ‘gompag_}; pﬁiii:;i(l)irg}: where stock has been sold in the month of July -2017.
the credi iy trading company has stock worth of Rs. 6,00,000 as on 10-0¢
Rt vosavi ding company posses only VAT Invoices. The Rate o
2017 Thfi;.a(}s’;g‘ is 12%. Find the credit allowability Whexge ch s
;p‘_’_lzl‘. in the month of - July -2017. P
1ka Enterprises has opted a compasition scheee fi
€ PO

.

-
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an'latio'n or merger of companies.

it m case of Amalg
st to busmess premlses

Note Books Sold - 8,00, 000

Stationary sold - 1,40,000.

Pen & pencils sold - 4,00,000.

Income earned from project work - 5,00, 000.

A”4 size paper sold - 5,40,000.

Gift items sold - 6,60,000.

Sold Rhymes Book - 5,50,000

Income from Buok Binding work - 2,50,000.
9) Computer related spare parts - 2,56,000.
10) Exams pads sold - 1,44,000

The above items are purchased from mangalore. They have not collected GST ﬁ‘o m
the customers. ¥

Are they eligible for composition of levy?
Calculate the tax liability.

- Assume that sumungala Book centre has filed his returns late by 2 m .»
Compute her late fee and interest.

Gopal Restaurent provides food & Beverages (Non—Alchohal) for |
- quarter of october to December. Their Gross liability is 2,44,000.
i 1) What 18 GST rate appllcable to Gopal Restaurant.
1 at is the amount of Interest, If he returns filed dela

esa suppher of Books and statlonary i
088 hablhty is 2 50- " te
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SECTION -A

nswer any Five from.the following.
Define Multimedia.
Name the types of Graphics.
What is Sampling?
Expand MIDI.
Name the types of Balance.

What is KIOSK.

Wirite the shortcut key for Slide Show view.

SECTION - B

er any FOUR from the following

T categorles of Multunedla‘?

t-Scanner and Dlgntal Camerey “S,ed'in'Multimg dla 3
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i Explam Text and Graphics objects in Multimedia.

‘11. Explain the process in distributing Multimedia Applications.

12‘." -Explain'different issues and trends in multimedia industry.

13, Write steps to apply Custom Animation in MS PowerPoint.
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SECTION-A

1y FIVE questions from the following :

ﬁ'bn the types 6f securities.

6 is a “Sleeping partner”?

t is “long-term capital Gain™?
"'t is partnership”™?

at do you mean by “Karta”?

SECTION - B

b

i ons from the following.

L

Scanned by CamScanner



_,,-m15-8-2017 i 14400 of |
_ Lﬁsw'andpmJBrokerageonsaleRSZOOOO iv
al house for Rs.3,47,200. On15-7-2017heownson ident

Tbe cost inflation indices for 2007-08 and 2017-18 were 129 and 272 oS '_Ir
i:mpmmstaxabnecapnalgmnformeAY 2018-19. .

lenthe following information compute taxable income from other sources of Mr V |

h =

for the previous year 2017- 18. .
 Directors fees Rs. 3,000. |
Income from Agricultural land in Bangalore Rs. 25,000.
A gold chain found lying in the railway platform Rs. 30,000.
‘Rent from Vacant land of Bangalore Rs. 20,000.

W'mnings-from horse race (Gross) Rs. 20,000.

Interest from tax free debentures of X company Ltd. Rs. 9,000

vii) Rs. 10,000, 7% capital investment Bounds

viii) Interest received from fixed deposits with SBI Rs. 8,000.
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| SECTION-C
E questions from the following :

Radhakrlshna 18 furnishing the following details of income and pa}’meﬂt& Y‘m?
qulred to compute the total income for the AY-2018-19.

Salary (Gross) Rs.2,40,000.
 Director’s meeting fees Rs. 20,000.

| ‘ c) Winnings from karnataka lottery Rs. 60,000.
b d) Winning from cards games Rs. 16,000.
‘; ‘ ’ ‘ e) Loss from house property computer Rs. 16,000.
* f)  Factory building with machinery let - out.
i)  Rent received Rs. 1,60,000.
Rs. 20,000.

ii) Repair charges

iii) Insurance Rs. 16,000.
, ' .iv) Interest paid on loan Rs. 40,000.
g) Lo-ng.-term capital gain on building.
) Sole proceeds Rs 3,92,000.
- i) Cost of Acquisition (2007-08) Rs. 1 ,29,000.
R ,Cost inflation indices for 2007-08=129 and 2017-18=272.
Rs. 40,000.

om Hlndustan company Ltd.
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the followmg assets durmg the P.Y. 2017 18

?“JLand purchased in May 2001 for Rs. 1, 40 000 sold for Rs. 5, 30 800
Rs. 1,05,000 (WD V

e o Furmture purchased for Rs 60 000 m 2013 sold for
~ 1-4-2017 was Rs. 30,000) z

\.‘ .

iii) Machinery purchased in June 2015 for Rs. 6,000 sold for Rs. 8,500,

A Building purchased in December 2004 for Rs. 1,60,460 sold for Rs 5,68,740. ';s_

‘ V) | Re51dental house purchased in January 2005 for Rs 2,93,800 sold on 1 2-2018 n'
| Rs. 17 07 200. E

vi) ﬁRs 50,000, 12% debentures purchased in September 2017 sold on 31-3- 2018 for
60,000. | A

o
‘.'“'

He purchased another residential house on 01-10- 2017 for Rs. 6,70, 000.

: Compute the taxable capital gains for the A.Y. 2018-19. The cost inflation indices fo
financial years 2001-02, 2004-05, and 2017-18 were 100, 113 and 272 respectively.

15 - Mr. Mahesh is the karta of HU.F. The family i
] speculatlons business also. F ollowing are
members for the PY 2017-18

is carrylng cloth business along with ¢
the partlculars of i income of famﬂy

‘ Salary recelved by Mr Rajan a coparcener Rs 20 ;000 PM. From X ;:ompan .
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' followmg

1)  Taxable income frorh H.P. Rs 64000.

ii)  Loss from speculation business Rs 40,000. | ‘ ; "‘;
i)  Winnings from crossword puzzle Rs . 32,000. | ;
iv)  L.IC. premium paid on the lives of members of the family Rs. 40 000.

v)  Contribution to P.P.E. in the name of Raghav Rs 40,000.

You are required to compute total income of HUF for the A.Y. 2018-19.

16 X,Y and Z are equal partners in a firm with “X” being non-working partner. The Profit &
Loss account for the year ended 31-3-2018 is as under.

- Dr profit and loss account for the period 31-3-2018

Dr. - Profit and Loss Account for the period 31-3-2018 | Cr.

} Darticulars -Rs ~ Particulars Rs -4 o

: To B 60,000 By Gross Profit 12,15,000 i
75,000 By Discount T

3,00,000 By Bad debts recovered 6,000

45,000
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 Lsoon0
90,000
3 60,000
To Cﬁmmission
-‘ 35000
> 30,000
. 15,000

To net profit (B/F)  1,35,000

12.60.000 i 12.60,000

- Other information
a)  Salaries include partners salaries Y = Rs 45,000 and Z = Rs 30’000'-‘
b). Baddebts admissible by income tax department R, 37,500.

¢)  Furniture purchased by “X” for personal use Rs 30 000 has been deb1
sundry expenses.

Donatlon includes donatlon to local school Rs. 10,500 to aclub Rs
to trade assoclatlon Rs 1500, i R

- Capital Accounts of Ppartners at the be . sl i
o gmmng of Y, were
".;6 ,00, 000 Y Rs 3, 60 000 andZ Rs 2 @;000 a§
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: fessmnal fees 17,500 el

' Arbltratlon fees 5,000 Generallexpén':séég"

'.Salary,f_rom college 3,000 : | Office rent
Dividend from Co-operative 4. Telephone charges 60‘0. | 7
.' soc_ietyA : - 5,00
5 | Interest on tax free debenture 5. Carexpenses 2,250
(Gross) 5,00
6 _ - Profit on sale of 6. Furniture purchased 2,250
e . securities 8,500
‘ 7. Municipal téxes ' 150,
8. Iﬁcometax 1200
9. Househoid expenses 6,000
10.  LiCpremium 1,500 :
11, Closing balaiais 13,150 5 A
35,000 k o0

She also furmshed the following information.
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lons to Candidates:

mpt ALL sections according to Internal choice.

SECTION-A
_‘__'ﬁ" €3 Answerany TEN questions from the following : ( 10><2=20)
: «E‘Xpand the abbreviations of PAN and TAN ' i‘
What is Tax free commercial security?
] 3. - Whatis cépital Gain?
r - What do you mean by “Previous Year”?
15. ‘Who is a working partner?
ﬁ Who is carry férward of losses?

. ‘What do you mean by “Tax Deducted at source”?

O
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””ﬁ'dmv House property Rs. 1 OO (?00
, ﬁﬁfﬁputed Busmess income Rs. 5, 000.
_. d) Long Term capital Gain Rs. 2, OO OOO

Durmg the year, he donated Rs. 50, 000 to tne Natlonal defence fund and Rs
the prlme minister national relief fund. ek

Compute the taxable income of Mr. Naresh for the A.Y- 2018-19.
14 Smt. Roopa furnished the following details for the previous year ending 31- 3-2018

@) Interest on central Government securities Rs. 20,000.
b) Winnings from lotteries (Net) Rs. 14,000.
¢) Interest on Debentures of ABC Ltd. Rs. 3,600.
d) Dividends from Indian company Rs. 5,000.
e) Income from Non-Agriculture Rs. 6,000.
You are asked to compute Her income from other sources for the A.Y. 20‘1 8-1¢

15. Mahesh and Naresh are the working partners in a firm sharing profit and losses in the ratio
2:1. Their capital stood at Rs. 1,00,000 each as on 1-4-2017. The profit and loss accounto%

_ the firm showed a Net Profit of Rs.15,000 for the year ending 31-3-2018 after charg
the following.

a) Interest on Capital Rs. 714,000 to Mahesh and Rs. 14,000 to Naresh.

b) Salary to partners Rs. 50,000 to Mahesh and Rs. 40 ,000 to Naresh.
Compute the Income of the Firm for the A_Y. - 2018 - 19.

- Explain briefly “Different types of Assessment”

‘M. Deepak purchased a house on 1-5- 2013 for Rs. 924000 and was used for reSI
The owner had contracted to sell the property in June - 2016 for Rs. 1200000 .
ece ved an advance of Rs. 1,00,000 towards sale. The intending purchaser didn

tt u'ansactlon and the advance was forfelted by Deepak in May 20;& h
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» able capital gain OTNB‘ Deep Wﬁ‘ﬁ"x&‘ o

. ~ SECTION-C SR
te:  Answerany THREE questions from the following: e

. Mr. vijay has furnished the following information of his income, for the previous year - i )
B 2017-18. ‘ | o

- l “ 1) Rs.20,000P.M. as member of parliament.
2) Dividend from foreign compahy Rs. 12,000.
3) Dividend from Indian company Rs. 20,000.
4)  Ground Rent of Rs. 20,000 on mining land.
5)  Winnings from lottery of Rs. 70,000 (Net).
6) Director’s fees Rs. 6,000.
7) Rs. 30,000, 7% capital investment Bonds of central Government.
8) Rs. 40,000, 8% Karnataka Government Bonds.
9)  Rs. 36,000, 10% Tax free commercial securities (unlisted)
| 10) Rs. 25,000, 12% Bangalore Development Authority Bonds.

He claims the following expenses.

~a) Interest on loan for purchasing securities Rs. 2,000.

b)  Collection charges paid to the Banker Rs. 200.
Rs. 1000 For purchasing lottery Ticket.

~ Rs. 500 Brokerage paid for purchasing secﬁrities.
te income from other sources of M. vijay for the A.Y. - 2018 - 19.

)
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%éﬁmmmssmn to partners
= ~A- 20,000 |
IR R 10,000

(3) To Salary to partners

' A- 24,000
B~ 24,000
(4) ToRepairs

(5) ToMunicipal Tax

(6) To interest on capital

| A- 28,000

B- 21,000

(7) To Miscellaneous Expenses

(8) To Charity
(9) To depreciation

(10) To car Expenses
.~ (11) ToBadDebts

# ~ (12) Toadvertisement
~ (13) Toincome Tax

~ (14) To Net Profit

A- 6,000

B- 4000

' '51 000 (1) By Gross proﬁt

2,85,000

‘ Rs sl. No Partlculars

(2) By Rent From House

~ Property
30,000 (3) By intereston fixed -
Deposit with Bank
o (Gross) '
48,000 (4) By Intereston
9000 POSB.AC 2000

2,000

49,000
23,000
2,000
23,000
10,000
5,000
8,000
15,000

10,000
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'IL

ellancous expenses includeRs 13 000 dehatmn pmdto my
motmg family planmng ’

s ’Deprematlon allowable as per rules is Rs, 8 000 for busmess AT
mpute total income of the firm for the A.Y. - 2018-19. e DT -
i zFollowmg are the particulars of income of H.U.F. for the previous year endmg 31-3-201 8 5

-1) Net profit from the family Business Rs, 40,900. This profit was cornputed after debmng :
- the following

= - a) SalarytokartaRs. 15,000 - H
s b)  Salary to Member of family Rs. 16,000 (ITO considered Rs. 12000 as reasonable) : :

¢) Loss from speculatlons Business Rs. 5,000.

d) Donation to V.S K. university (approved) Rs. 2,000.

e) Donation to political party Rs. 6,000.

2) F amily owns Two Houses : the details are

House-1-self occupied.

a)  Municipal value Rs. 20,000.

b)  Municipal Tax paid Rs. 2,000.

¢) Interest on loan for construction Rs. 8,000.

House - 2-Let-out
a)  Municipal value Rs. 33,000.

b) Fair Rent Rs. 30,000
¢) Actual Rent Received Rs. 36,000.
3) Interest on Bank Deposit Rs. 8, 000.

1 e 4) Long - term capital Gain Rs. 12,000
b are asked to compute the total i income of the HUF. for the Assessment year - 2018~19
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Loan from Bank
For purchase of
~ Surgical equipment
- (7) Winnings from
Lottery (Net)
(8) Rentfrom H.P.

let out

R institution.

Addltlonal Information

B'mlesnc expenses include R, 6

2 000 (1)
: 1,30,000 (2)

; ?i'

Medical periodicals. :

‘ L.I.C. premium

Deprematlon allowable as per rule is Rs.5,000.

) Donations are Rs. 2000 to political party and Rs. 18,000 ¢

000 being premium on mediclajm poiicy for himself.

it iyt

~ Rs. SLNo. Payments

Dispensary expenses

".12

20,000 (3)
50,000 (4) Salaries to staff 60 00
8,000 (5) Domestic Expenses 55,200
(6) Donations 20,000
(7) Deposit in Bank 60,000 :1
30,000 (8) CarExpenses 6,000 I
(9) Cost of surgical |
35,000 Equipment 60,000
(10) CashinHand 3,000
24,000 E
i he 2,99,000

0 an approved charitable
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v

200000

- Year dfburchase

'1l969-70_
Cost of Additions 40,0 00
- Year ofAdditioﬁs 1999;2000- | ; 2007_03
Cost of Improvement 1,17,000 s - | :
(6) ' Year of Improvement 2005-06 ., STE T i
&(7) ~ Selling expenses i i 1,000
_";LES)‘. -~ Sale proceeds ' 13,54,600 1,55,800
"(9) Year of sale | 2017-18 2017-18

The fair market value of Jewellery as on 1-4-2001 was Rs.2,80,000.

The cost inflation Indices were 2001-02 = 100, 2002-03=105, 2005-06=117, 2007-08=129
=3 and 2017-18=272.
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SECTION -A

& Answer any Five of the following: | | s e ‘ (5><2=lﬂ) f
‘1. Whatis Tax planning? - e
2.  Givethe meaning of foreign company. | R oﬂ
3. Whatis Tax Free per quisites? fl
4, Define “Amalgamation” as per IT Act.
5. Give the meaning of Gestation period.
6. What is capital structure?
7. What is shut-down or continue managerial decision?
SECTION-B ‘
Answer any Three of the following: (3%5=15)
8. Briefly explain the tax considerations in conversion of a firm into a company.
9. Discuss the Tax considerations in dividend policy.
Explain section 40(B) relating t© remunaration. \ T

‘What is Foreign Collaboration

agreements? Briefly explain?
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C =20,000

B ' A=4200 -

:. o, o f . ¢ 1

ﬁ) ‘ "Interestqn cap_ﬂal at 14% to | B=5600 08
| = - C=17,000 -

ke e) Rent of the Building to B, Rs. 4000 compute the total income of the firm. -

SECTION-C

~ Answer any three of the following:

| (3x15=45)
13. Explain the tax considerations for Employees. Lo

- 14. State the benefits under income Tax Act, 1961 to
a) Anamalgamated company and
b) Theamalgamating company and its share holders

-“-ﬂ
e .

i - 'What do you mean by “Make or Buy” decision? Explain the Tax planning aspects? P b

16. The following information belongs to a capital structure of a company, which Alternative is? i |
€. _'best and glve your reasons.

| Alternatives .
Capital Rs.) | ~ 250000 200000 50000

Loans _' . - 50000 - 200000
- Total ‘Investments .

250000 250000 -

| ) 250000

Rate of Interest on loan : 10% .

~ Rate of Return : 25%, 10%, 8%
- Rateof Tax : 30% :
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